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(Analysis of Financial Statements)
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e Please check that this question paper contains 24 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(i) TEYF-9T @ 9T B s 8 —H 3R G |
(i) HT—-% qH1F fore a8/
(iii) 47T —@ & &l a8 — (319 (3]l &7 [3eer9or a/8/7 371 9ehierd a@ias |
(iv) 47T —& G ST G &1 [9Hc9 & J771 & IH 1@ |
v) 1 T & qyi 9T @ IR U 81 I W i@ 5 FiEy |/

General Instructions :
(i)  This question paper contains two parts A and B.
(ii) Part A is compulsory for all.

(iii) Part B has two options : Option — I Analysis of Financial Statements and Option — I
Computerized Accounting.

(iv) Attempt only one option of Part B.
(v)  All parts of a question should be attempted at one place.

HIT—<h
PART - A
(el WAt e wefEt & fore orgie)

(Accounting for Partnership Firms and Companies)

1. To9 o7 999 91EGR § 91 4 : 1 o 3TJ9Td § T 1 9cal L 15 & | STl Yl Hasl:
90,000 7T T 70,000 &Y | ™ T 1/3 9FT & TeIQ I8 Uefieh <1 &H o w1 fean | s
Tt USft o &9 H % 1,00,000 FIHT | H i AT 31 70T I | 1

Vinay and Naman are partners sharing profit in the ratio of 4:1. Their capitals were
¥ 90,000 and ¥ 70,000 respectively. They admitted Prateek for 1/3 share in the profits.
Prateek brought ¥ 1,00,000 as his capital. Calculate the value of firm’s goodwill.

2. A ATHGR 301 AT HIAGR (60 ST H A YW HA & ? 1

In which ratio do the remaining partners acquire the share of the deceased partner ?

3. HEer W % faued & gua feuta-Taewn <+ g uer J TemmT U 9Eier & 57507 & g
UsHH=ET Tiary € | 1

Give the joumal entry for the treatment of partner’s loan appearing on the asset side of
the Balance Sheet, on dissolution of a partnership firm.

6711 2 cn



4. 318, AT qUT AT, FEHCR I TAT T AUTENT DI 5 : 3 : 2% I § Sied o | AT
ST TET FeraT 3T 3Tk 3T o1 3T T I 9 5 : 3 o AT | of e | 3109 aerT
A 1 ATYA™ ST T i | 1

Aman, Yatin and Uma were partners and were sharing profits and losses in the ratio of
5:3: 2. Uma retired and her share was taken over by Aman and Yatin 5 : 3 in ratio.

Calculate the gaining ratio of Aman and Yatin.

5. T HTSCER o =T @I o A 98 1 AR fem@ms S arelt a1 7g girg | 1

Give two items which may appear on the debit side of a Partner’s Current Account.

6. 3 fsh forfaa & o s1fimma 2 7 1

What is meant by ‘Private Placement of Shares’ ?

7. 3fhd ud hifdes ATHER & 9UT AT -814 SUs-gUsi §ied 8 | BH & o1 § sel 379
e 3217 T =1 % < U WIZIER ST | 39 3e9d % fere wif Sl e w1 gedieha
FTYTT & IR I o SHY o TR T HET AT | 3

R o T3 W %Y 1 Rl — foam e ysr g ot

I R | e | R
Ioft i 75,000
Ad — 90,000 ETiEEs 15,000
Fdd  — 50,000 | 1,40,000 | =i 30,000
g 20,000 | fafaer Ter 20,000
= 25,000 | Fepg 50,000
e SR 5,000
1,90,000 1,90,000

T oh1 AT & 12% Sfaad & | fuser ar ot o1 %H 1 38d & T 30,000
YT | B | HIW S 3797 ! TIMET Hif |
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to be valued at four years’ purchase of super profits.

Amit and Kartik are partners sharing profits and losses equally. They decided to admit

Saurabh for an equal share in the profits. For this purpose the goodwill of the firm was

The Balance Sheet of the firm on Saurabh’s admission was as follows :

Liabilities Amount(%) Assets Amount(3)
Capitals : Machinery 75,000
Amit 90,000 Furniture 15,000
Kartik  50.000 1,40,000 | Stock 30,000
Reserve 20,000 [ Sundry Debtors 20,000
Loan 25,000 | Cash 50,000
Sundry Creditors 5,000

1,90,000 1,90,000

YUAIEATR® T2
AfmamT® %3

T Ul &9 | 3T15Ed §HT AT At TR 1 qUT 3T T T L 1A T | |9+
TS [T A T8 1 6,000 3T % T SFNGRT AIE 3, TT A=A W, JAfad A1 1
e = T | 9= 3, fwss amm 700 3w 9 o fafyr o wem == w1 yoram =@ o |
S 7 HATH AT o A FYH AT BT A H ST | AT UM hi IITH T BT
TR 3 Sfafsai &1 oraiehd w8 % fear | Sush uvEa 3ue g famtatea sttt
F Bg € T | 3 wfafEt w1 qu e |

371 T T YA T YR & HET T :
FAEETR — T3
FEAW — T2

four years was ¥ 30,000. Calculate Saurabh’s share of goodwill.

The normal rate of return is 12% per annum. Average profit of the firm for the last

Faf-mir fafiee 4 T 10 Y& % 4,00,000 FH1 37201 1 FH-od 9 F=riia foam | ufa
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(Faf-miur feafr, =1 see)

o oo g EEN | TN @) | SO @)
GHAT 379 YH A=A Gl ElL| 8,00,000
8,00,000
(4,00,000 3797 W T 2 4fa ATy
RICEIRUKIKS))
S @ qm
it
THAT 379 YYH ATSHAT Gl
EAT 39 ISl G
(4,00,000 I W T 3 gfg AT A @A
CISERICEIC)
S @ ™
. A
THAT 3731 gEt qT 3 ATeT @
)

Navnirman Ltd. issued 4,00,000 equity shares of ¥ 10 each at par. The amount per
share was payable as follows :

T 3 on application; ¥ 2 on allotment; T 2 on first call and ¥ 3 on final call. The issue
was fully subscribed and the shares were allotted fully to all the applicants. All calls
were made. Mahi, a shareholder holding 6,000 shares paid the final call money along
with the first call. Shrey holding 700 shares did not pay the first call on the due date.
Shrey paid the first call along with the final call. The accountant of the company had
correctly passed the entries till receipt of allotment money. After that the following

entries were left incomplete by him. Complete these entries.

5
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Journal of Navnirman Ltd.

Date Particulars F Dr. Cr.
Amount (%) | Amount (%)
Equity Share first call A/c. Dr. 8,00,000
To o 8,00,000
(Being first call due on 4,00,000 shares @ ¥ 2
per share)
Bank A/c Dr.
Dr.
To Equity Share firstcall A | | | ...
To oo
Equity Share second and final call A/c. Dr.
To Equity Share Capital A~ | | | e
(Being final call due on 4,00,000 shares @ ¥ 3
per share)
Bank A/c. Dr.
Dr.
To Equity Share second and final call A’c. | | | ...
To i

6711

ST Tatieg & 3Afusrd 9l % 10 T % 2,00,000 Foat 3791 & | E A 1,00,000 3731
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Janta Ltd. had an authorized capital of 2,00,000 equity shares of ¥ 10 each. The
company offered to the public for subscription 1,00,000 shares. Applications were
received for 97,000 shares. The amount was payable as follows on application was
T 2 per share, ¥ 4 was payable each on allotment and first and final call. A shareholder
holding 600 shares failed to pay the allotment money. His shares were forfeited. The

company did not make the first and final call.

Present the share capital in the Balance Sheet of the company as per Schedule IIT of
the Companies Act, 2013. Also prepare Notes to accounts.

IS, WTEHAT AT 9T WEER & ayT 2 : 2 1 % AU U AM-gi sied 9 | 1 9T, 2017
1 51 61 Teg B TS | @ gk NP a4 31 W W1 9 shi 91t & | 2016 -17 5 o feg
feshar 361 T T 5,00,000 & 7T 1 318 & 30 5, 2017 T T 1,40,000 7 | et o awi
% QR ATH G TR 31 10% T | ik 51T T ITUIRR I6ehT Fhalidl 91 91, S
Ter Taf¥me =0 & A o, o8 Tt Toren o o S < @i &1 Hem & & fag am 6
TorT Torsha & 20% TR ! AT |

(%) =1 1 g 1 Al Tk AT H I8k WIT shi TTIHT I TUT I8k ToTT 3T
st giafe it |

(@) I TG H 978 T T ThTR SIAT 1 8, I6eh1 A Jeord whifag |

Ajay, Bhawna and Shreya were partners sharing profits in the ratio 2:2:1. On July 1,
2017 Shreya died. The books of accounts are closed on March 31 every year. Sales for
the year 2016-17 amounted to ¥ 5,00,000 and that from 1% April to 30% June 2017
were ¥ 1.40,000. The rate of profit during the past three years had been 10% on sales.
Since Shreya’s legal representative was her only son, who is specially abled, it was
decided that the profit for the purpose of settling Shreya’s account is to be calculated

as 20% on sales.

(a) Calculate Shreya’s share of profits till the date of her death and pass necessary a

journal entry for the same.

(b) Also, state the value highlighted in the above para.

7
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T T HS(a Uk H 8 ATe & | 3 HTEiGR Hord § ™ o1 foh Al 1 seam
T W & e <ITam

TES T 20,000 TSI <1 GUT AV 4 : 1 9 A 4 | 31 AT, 2017 =1 FHTS §C = o ferg
Y T 60,000 YT, TTEERT SEaRT HTRIGRI o HE T TG 11 | 01-04-2016 1 IFh1 ISi
oY, T - T 90,000 T9T FSid T 80,000 | 6% SMT¥eh S & ISt T SATS 1 WA Feha
ST T | ATH—1 SRS ST IR i 9 STl IR ST g1 oRTiT 77T |

9o foIu 3rTavgs wieq wfafs SAifsT | 3199 1 1 o1 9 3 gz |

Rajiv and Sanjeev were partners in a firm. Their partnership deed provided that the

profits shall be divided as follows :

First ¥ 20,000 to Rajeev and the balance in the ratio of 4 : 1. The profits for the year
ended 31% March, 2017 were ¥ 60,000 which had been distributed among the partners.
On 1-4-2016 their capitals were Rajeev I 90,000 and Sanjeev ¥ 80,000. Interest on
capital was to be provided @ 6% p.a. While preparing the profit and loss appropriation

interest on capital was omitted.

Pass necessary rectifying entry for the same. Show your workings clearly.

I Tatiee weh et wee St 8 | 379 fmfia dmihaes STaitaai o fHaied &g 594
e @ &% o oy framm fmtn w@ w1 folr foen | e 3 Sam fafies &
¥ 10,00,000 T FEata=i 9o ¥ 1,80,000 i SIS T ATHUTEW T 7,60,000 H 73T | 567
o o Ui e &g i fafires = am fafieg & w1 9 T 100 T2=F & 9% w1 &1
Tt 5% &g wfeRan |

ITE el o fore off fefiee <Y geaent @ stTevaes TsHma gfafsat S |
e fafies g eam 4 W T o3 &1 9ga ™ o i |

Venus Ltd., is a real estate company. To discharge its corporate Social Responsibility,
it decided to construct a night shelter for the homeless. The company took over assets
of ¥ 10,00,000 and liabilities of ¥ 1,80,000 of Cayns Ltd. for ¥ 7,60,000. Venus Ltd..
issued 9% Debentures of ¥ 100 each at a discount of 5% in full satisfaction of the

purchase consideration in favour of Cayns Ltd.

Pass necessary journal entries in the books of Venus Ltd. for the above transactions.

Also identify the value observed by Venus Ltd.
8
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TeH fAfHeE 93 6,00,000 % 8% 01 1 6% Sg T -iTHa fepa | SRUTIHT &1 3Me TH-
e afies frvdi o =1 91 | w6 fria & fau e Usmen gfatsat Hifse
AT IR 9T T KU e g1 @ daR it | 3794 &1 ol TF 9 F g | 6

Boots Ltd. issued ¥ 6,00,000, 8% Debentures at a discount of 6%. The debentures
were redeemable in four equal annual instalments. Pass necessary journal entries for
issue of debentures and prepare ‘Discount on issue of debentures Account’ for four
years. Show your workings clearly.

TG Tt TTorsT AreieR & qUT 2 < 3 ITU U A -gia dfed & | 31 4, 2017 1 36T

Tearfa-faao fa v o - 6

Cgand IR | Tt I @)
THER 80,000 | Sip T kg 20,000
e 3l ufaeRy 50,000 | TER 55.000
Frf 3 aTE &1 0 77,000 | erer — \ferer Fon < fee grae™ 2,000 53,000
N EA | 28,000 | ®ih 78,000
a1 Tred-sgd Iy 15,000 | foarer 89,000
st - o 2,50,000
fif@r  1,50,000 A - FI @ 10,000
e 1,00,000 | 2,50,000

5,00,000 5,00,000

Iy Tt o6t o 61 fareres &1 man | grafat o= < s qut STt S rae e geR

Y gAT:

(%) T 6,000k GACI <1 U GBI TS |

(@) TrfT 319 ATE &7 K07 YraE A & A wgEd 8

() % 10,000 % TH THGR 1 36h GTd o 01 T-92H &g T 3,000 T T TehaT 1T |

(&) Wad w1 1,80,000 T et o fem wan qen Hfiemiet 1 wifisE T 8,000 9T |

(F) 0T A ¥k I T HFT T 4,000 (S TR 93 H 20% 67 oT) 9 o T | 5=
BT Wieh 3N THGRI < 3eh @l < ot fuer &g < feam ma |

(J) Tl § % 9,000 9 9HA BT |

() g =™ T 17,000 & 3R T YA 77T  TehaT |

G @A, FTEGRT % USfl @I aUT S @raT dar i |
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Girija and Ganesh were partners in a firm sharing, profits and losses in the ratio of
2 :3.0On 31% March, 2017 their Balance Sheet was as follows :

Liabilities Amount | Assets Amount
(9] )
Creditors 80,000 Cash at Bank 20,000
Bank Overdraft 50,000 Debtors 55,000
Girija’s Brother’s loan 77,000 Less: Provision for
Ganesh’s loan 28,000 doubtful debts 2.000 53,000
Investment Fluctuation Fund 15,000 Stock 78,000
Capitals : Investments 89,000
Girija 1,50,000 Buildings 2.50,000
Ganesh 1.00.000 2,50,000 [ Profitand Loss A/c. 10,000
5,00,000 5,00,000

On the above date the firm was dissolved. The assets were realized and the liabilities

were paid off as follows :

(a)
(b)
(c)

(d)

(e)

€]
€]

Debtors of ¥ 6,000 were proved bad.
Girija agreed to pay off her brother’s Loan.

One of the creditors for ¥ 10,000 was paid only ¥ 3,000 in full settlement of his

account.

Buildings were auctioned for ¥ 1,80,000 and the auctioneer’s commission

amounted to ¥ 8,000.

Ganesh took over part of stock at ¥ 4,000 (being 20% less than the book value).
Balance of the Stock was handed over to the remaining creditors in full

settlement of their account.
Investments realized ¥ 9,000 less.

Realisation expenses amounted to ¥ 17,000 and were paid by Ganesh.

Prepare Realisation Account, Partners” Capital Accounts and Bank Account.
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uTef, T YT ST WA= ST dTelt Uk H 3 HEigR & 195 : 3 1 2 % T °§ e -l
H AU HA G 2 | 13799, 2017 § I 976l AH-FMAHI2 ¢ 5 ¢ 3% 371G H e
o1 Tty forn | et Teufa-fememor emy-afs @ 3 7 4,000 =61 99 99, ¥ 36,000 1
I S 3 a1 % 12,000 1 HH=RI @fqy(d S= N G @I T | Jg aedfa gsfh— 6

(i) 31 Tt w1 geameRd 3 76,000 foram simer |

(i) ¥ =T (T 40,000 JH6IT God) 8% & Yodg foham Smam |

(iif) ¥ 900 = TER & a1 il |

(iv) =T Efagfd =1 T 20,000 1 &1 T |

(v) Toaremi =l (% 38,000 J&ERE o) T 40,000 T GTHeRa foraT T |

HH T aY T FEPH I BR L HI GH o o [0 ARG QoM Hiaai 1 fmimm
T 8 | G H TG g NGV F H1 LA H T §Y HH A I8 [uig T 6 =9 2017-18 9
T e TTd a9 1 T 10%, TG I H LIFRIRG fha1 ST 3R 3661 3T
e ¥ ¥ gateor- - foreati & faw g |

(%) I o T 3rTevaes Vs yfafeat Hif |

(@) Al Q1 et o1 ot Seora Hifee i T 3wreR e o wehre g /= § |

Parth, Raman and Zaisha are partners in a firm manufacturing furniture. They have
been sharing profits and losses in the ratio of 5 : 3 : 2. From 1% April, 2017 they
decided to share future profits and losses in the ratio of 2 : 5 : 3. Their Balance Sheet
showed a debit balance of T 4,000 in Profit & Loss Account; balance of ¥ 36,000 in
General Reserve and a Balance of ¥ 12,000 in Workmen’s Compensation Reserve. It
was agreed that —

(1)  The goodwill of the firm be valued at ¥ 76,000.
(1)  The Stock (book value of ¥ 40,000) was to be depreciated by 8%.

(111) Creditors amounting to ¥ 900 were not likely to be claimed.
(1v) Claim on account of Workmen’s Compensation amounted to ¥ 20,000.
(v) Investments (book value ¥ 38,000) were revalued at I 40,000.

The firm manufactures comfortable rocking chairs for donating to “Kareforyou’ an Old
Age Home every year. Taking cognizance of the rising pollution levels in the country,
the firm has decided to transfer 10% of the profits every year to ‘Green Fund’
primarily used for environment friendly activities starting from the year 2017-18.

(a) Pass necessary Journal entries for the above.

(b) Also state any two values highlighted in the above case.
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67/1

THad feafaes 3 T 10 99 & 10,00,000 FHAT 3790 o1 Fif & & fee see st
fepu | feepT A fr TR B S ot

FTaEA e 37TeeA W : T 4 9fe 3731 (T 1 Hifiem afza)
A IEAT W ; T 4 Ui A
et war 3t ameqT W T3 i 31w

15,00,000 3730 & TaTT ATeieT YT U qUT 9} 319Gl 1 FAIde ATIR T
AT L Tz ma | 3ATfe 3ATaeA TR &1 AHRISH IRl o < Ui O fokan | U
Ay, 9T 6,000 3790 & ferw straeq foman o, wm aut fyde wa sifaw amqT &1
T T FeRaT | 3ok 3T o1 80T SR fotam 7T | 0T o aTa 319t 4 & 90% i 1 T 8
et 3791 i e 9 Toifira =6 feam |

I AT o TAT SHET 21 TEeh| H HTIRIh USHIHET a8t it |
JYgqr

T fAfHeg 9 T 10 I & 5,00,000 HHAT 37901 1 SR W TFHd 3 &g 3TTeed
FHf=d fRu | ufd 3791 TR <1 YA -0 TehR & AT 9T -

TG W — T 1 9 37w

T W — % 2 9fe 37w

TIH AT T - T 3 9fd 37
et T i AT W - 3

8,00,000 37301 o TeTu 311ded 9T U | 1,000,000 3791 o HTAGAT bl T8 I 16T T
AT I HATeGeh! I JUNdH IR T AT 1 3TTEA L {61 T | e | qH
SATARER TR T TS 318 W ¢ U H &L T = | af I 7 ot 18 |
5,000 3737 o Wk FTILTH HIEh - HATEA U aUT AT UM T YIAH &1 fohan | U
FIRUTER AT, T8 7,000 3790 % fore srrerga fomam 1, wem qt gadl wd A fam Ar=en
T WM HH H AR W1 | gall 7T 3T AT=H1 o J2=1d 31200 7T 918 o 3301 h1
BT T T T | 50T feRe 31 3711 § & 8000 37=11 &7 ¥ 12 Wi 3791 i W& 4: Foiea
& T T | gt 3791 H STk & gXvT fohu U o 37w wfeifera & |

wa fafiree i geaeni 3 STie ST & feru srmawaes Ustmm=n wfafEai Hifeg |
12
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Manvet Ltd. invited applications for issuing 10,00,000 equity shares of ¥ 10 each

payable as follows :

On application and allotment ¥ 4 per share (including premium ¥ 1)
On first call ¥ 4 per share,

On second and final call ¥ 3 per share.

Applications for 15,00,000 shares were received and pro-rata allotment was made to
all the applicants. Excess application money was adjusted on the sums due on calls. A
shareholder who had applied for 6,000 shares did not pay the first, and the second and
final call. His shares were forfeited. 90% of the forfeited shares were reissued at ¥ 8

per share fully paid up.
Pass necessary journal entries for the above transactions in the books of the company.
OR

X Ltd. invited applications for issuing 5,00,000 equity shares of ¥ 10 each at par. The

amount per share was payable as follows :
On Application ¥ 1 per share

On Allotment % 2 per share

On First call ¥ 3 per share

On Second and Final call — Balance.

Applications for 8,00,000 shares were received. Applications for 1,00,000 shares
were rejected and pro-rata allotment was made to the remaining applicants. Excess
money received with applications was adjusted towards sums due on allotment. All
calls were made. Ashok a shareholder holding 5000 shares failed to pay the allotment
and the call money. Mohan, a shareholder who had applied for 7000 shares, failed to
pay the first and second and final call. Shares of Ashok and Mohan were forfeited after
the second and final call. Of the forfeited shares 8000 shares were re-issued at ¥ 12 per
share fully paid up. The re-i1ssued shares included all the forfeited shares of Ashok.

Pass necessary journal entries for the above transactions in the books of X Ltd.

13
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31 9, 2017 &1 AR a1 feen w1 fifa-faeor, S 3 ¢ 1 % 1o o @™ sied 9, =

JHR B YT : 8
31 9T, 2017 =1 3R 71 feean o fRufa-faaon
of¥r i
ERE et
9] ®
SR 220,000 | &% 7 i 1,40,000
i wfersa fafy i 1,00,000 | ¢HeR 6,50,000
TrareT sga-wed iy 1,00,000 | wrer: g&d 00
S 1.20,000 3 RIUTEEE . 50.000 | 600,000
ECLE LSIE0 3.00,000
FfR:  6,00,000 et (@R 9o T 4,40,000) | 5,00,000
fea 4.00.000 10,00,000
15,40,000 15,40,000

1 378, 2017 o1 I8 1/5 1T & Toru otk o1 weh =2 Argier s |

() T wfa ifiram o 379 77T % e % 80,000 ST |

(@) ¥l 1 GeaTehd T 20,000 3114k foram T |

(1) Tk er TRt 3 ¥ T 5,000 oY, ot Fd gad =01 % w9 # srufefiga w fem
T T, | U 9 2 T 4,000 1 A 1R |

(") T 6,000 9Fd ATE ST <L H S AT T dd 37T o7 |

(F) TR 73 wH o1 et Sl o 1/5 T oh SRISR YSiT STRA |
IR T, FTSERI < ISt @Td 9o Tiiad H o1 fefa—Tasro dar HifaT |

HYET
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HTSIT, AT AT ArerdT ATEeR 9 a7 B 50%, 30% ° 20% A ST S w9 | 31
T, 2016, 1 371 TRafa-Tagw e T T -

31 9, 2016 T H1eAT, AT qeT Arear o1 ferfa-femmr

Tyt TR | efaat )
SR 1,40,000 | werreft geafsyat 8.90,000
M T 1,00,000 | fears 2,00,000
ECIE wich 1,30,000
FEA 6,00,000 AL 4,00,000
ART5,00,000 T — 8 VI % [

g 4.00.000 | 15,00,000 | SEEH 30,000 3,70,000
EEd 1,50,000
17,40,000 17,40,000

ITeR Tafer 1 AT STThTT TEU R AT I U At = T 3@t W % &1 =1
T w1 Tt o

(%) HH T BN =T TeTh T 60,000 TeHAT T 1 TN T SH1SAT o W 1 THRISH
HH 1 =] Ta- ATt FTRGRI < Sl @l H & sh1 -0 for |

(@) SR &ATTId T T 4,000 T Th &1 9T |

(1) T =T GHETRA T 2,13,000 TohaT T |

(9) Sl qearadl 9 10% JeasTE SRTHET 9T |

() AT DI T 20,000 HT YTAH Uh b STFE GRT RAT AT GUT 3T T I 5
/O @ § T mn; fdenT yram € seR aiftes TRyl @ 10% i &I &
1Y HTR |
IR @I, TSR o ISt WTd aUT 3T YA deh HIeA1 1 K01 @Il a1
#Hifa |
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On 31% March 2017, the Balance Sheet of Abhir and Divya, who were sharing profits

in the ratio of 3 : 1 was as follows :

Balance Sheet of Abhir and Divya as on 31 March 2017

Amount Amount
Liabilities Assets
® ®
Creditors 2.20,000 Cash at Bank 1,40.000
Employees’ Provident Fund 1,00,000 Debtors 6,50,000
Investment Fluctuation Fund | 1,00,000 Less Provision
General Reserve 1,20,000 for bad debis —50.000 | 6,00,000
Capitals : Stock 3,00,000
Abhir : 6,00,000 Investments (market value | 5,00,000
Divya:  4.00.000 10,00,000 ¥4,40,000)
15,40,000 15,40,000

They decided to admit Vibhor on April 1, 2017 for 1/5% share.

()
(b) Stock was overvalued by ¥ 20,000.
(c)
full settlement.
(d)
(e)

firm.

Vibhor shall bring ¥ 80,000 as his share of goodwill premium.

Two months salary @ ¥ 6,000 per month was outstanding.

A debtors whose dues of T 5,000 were written off as bad debts, paid ¥ 4,000 in

Vibhor was to bring in Capital to the extent of 1/5" of the total capital of the new

Prepare Revaluation A/c, Partners’ Capital A/c and the Balance Sheet of the

reconstituted firm.

OR
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Kavya, Manya and Navita were partners sharing profits as 50%, 30% and 20%

respectively. On march 31, 2016, their Balance Sheet stood as follows :

Balance Sheet of Kavya, Manya and Navita as at March 31, 2016.

Amount Amount
Liabilities Assets
® ®
Creditors 1,40.000 | Fixed Assets 8.90,000
General Reserve 1,00,000 | Investments 2.00,000
Capitals : Stock 1,30,000
Kavya 6,00,000 Debtors 4,00,000
Manya 5,00,000 Less — Provision for
Navita 4.00.,000 | 15,00,000 bad debts __30,000 3,70,000
Bank 1,50,000
17,40,000 17,40,000

On the above date, Kavya retired and Manya and Navita agreed to continue the

business on the following terms :

(a)

(b)
(c)
(d)
(e)

Firm’s goodwill was valued at ¥ 60,000 and it was decided to adjust Kavya’s

share of goodwill in the capital accounts of continuing partners.

There was a claim for workmen’s compensation to the extent of ¥ 4,000.
Investments were revalued at ¥ 2,13,000.

Fixed Assets were to be depreciated by 10%.

Kavya was to be paid ¥ 20,000 through a bank draft and the balance was
transferred to her loan account which will be paid in two equal annual

instalments together with interest @ 10% p.a.

Prepare Revaluation A/c, Partner’s Capital accounts and Kavya’s Loan Account
till it 1s finally paid.
17
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qT—-@
fapea—1
(ferchar feramo w6t fergetwon)
PART - B
OPTION - I

Analysis of Financial Statements

Tk HE g T e SRy ue 31 ) Ueke waTg forer sHTa wne fohe wehr shi nifafaty
HET STET ?

‘Loans and advances granted’ by a company will be considered, as which type of

activity while preparing Cash Flow Statement.

Ueh TaTE Torawor a9 & TIfies 3599 1 Iooid hifaT |

State the primary objective of preparing the Cash Flow Statement.

(%)

(@)

(a)

(b)

ot arfafaem, 2013 i SATEE 11 & AFaR Fe 7e) o1 o gea-wfivei ud 3u-
wfiefent 3 at=mta gt sem 7

(i) e fea e < fere sraum

(i) A0 Jr=

“Tercftar Tereroit o forzeraor <61 fepegl <1 Himmaii o1 Jeord HIfT |

Under which major headings and sub-heading will the following items be shown
in the Balance Sheet of a company as per Schedule III of Companies Act, 2013 ?
(1)  Provision for employee benefits.

(1) Calls in advance.

State any two limitations of “Analysis of Financial Statements’.

18
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()

(@)

(a)

(b)

Teh ST AT L 2 5% Tehed oY 3T1oid el & | 31 A, 2017 1 997 & a1et
T4 % T 36T ohal @ T 5,00,000 T | A 3T F8a 319 IS T 10,00,000,
=9 wd AN T 2,00,000; EpE /T T 3,00,000 TG A TREEEAT
% 10,00,000 9 |

FHEt % TR Yot STTET ST Y TET ST |
13 TAHEE 1 A T L & 9991 G a™ T 1,00,000 9T | 3R ATe] Fwdal
T 4,00,000; =] S T 2,00,000; TR wFafe@il % 6,00,000 T 10% ki
/U T 4,00,000 T | BT S 20% 7 |

78 faftres & fe Wy ) oET I |

A company earns Gross profit of 25% on cost. For the year ended 31 March,
2017 its Gross Profit was ¥ 5,00,000; Equity Share Capital of the company was
¥ 10,00,000; Reserves and Surplus ¥ 2,00,000; Long Term Loan ¥ 300,000 and
Non Current Assets were ¥ 10,00,000.

Compute the “Working capital turnover ratio” of the company.

Y Ltd’s profits after interest and tax was ¥ 1,00,000. Its Current Assets were
¥ 4,00,000; Current Liabilities ¥ 2,00,000; Fixed Assets ¥ 6,00,000 and 10%
Long term debt T 4,00,000. The rate of tax was 20%.

Calculate “Return on Investment” of Y L.td.

22. T = § g A - B 9ETT G ik - 4
Tererar 31 9= 2017 31 9= 2016
=TT A < 24,00,000 ¥ 18,00,000
A A (T AT %) 15% 25%
Y (T AT %) 60% 50%
HLEL 40% 40%
From the following information, prepare a Comparative Statement of Profit and Loss :
Particulars 31% March, 2017 | 31% March, 2016
Revenue from operations T 24,00,000 % 18,00,000
Other incomes (% of revenue from operations) 15% 25%
Expenses (% of revenue from operations) 60% 50%
Tax rate 40% 40%

6711
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31 9T, 2017 @1 Aerert fafires &1 fRifa-faam e yer g o

Tt fefires
31 A 2017 1 fRufa-faago
IEE qMed. | 319, 2017 | 31 9, 2016
(9] (9]
1 991 Ud egd :
1. e it
(31) 3T st 3,00,000 1,00,000
(a) e s : 25,000 1,20,000
2. 3= AT
Heep el =R 2 80,000 60,000
3. =] gFand
(37) AT ER 6,000 20,000
(9) TTELERTA T 3 68,000 70,000
| 4,79,000 3,70,000
I1. it
1. 3= it
S S 4 3,36,000 192,000
2. =T aiEHraEt
() =i (ArergET) 67,000 60,000
(9) ST 9T 51,000 65,000
(|) Uhg aYT UHS ged 25,000 49,000
QECEIGEItE R - 4,000
| 4,79,000 3,70,000
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Wt & ew

e e 317, 2017 | 31 9, 2016
q. (4] (9]
1. | 999 ug sy
(ST — - BT+ TeremoT &7 3) 25,000 1,20,000
25,000 1.20,000
2. | iRt ROt
10% GrefehTef 3BT 80,000 60,000
80,000 60,000
3. | oTEeRIetla yTeg™
HTIEIH 68,000 70,000
68,000 70,000
4. | et ufeemfat
e 3,84,000 2,15,000
e (Hied) geas (48,000) (23,000)
3,36,000 1,92,000
Fafeier o :

(i) fafe o 1 JaT8, 2016 &1 fa=n i |

(i) a9 H T 53,000 T T YA R 7T |
Uehg vaTE faewor IR hifs |
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Following is the Balance Sheet of Mevanca Limited as at 31%* March, 2017

Mevanca Ltd.

Balance Sheet as at 31 March, 2017

Particulars Note 318t 31
No. | March, | March,
2017 2016
® (9]
I Equity and Liabilities
1. Shareholder’s Funds
(a) Share Capital 3.00,000 | 1,00,000
(b) Reserves and Surplus 1 25,000 | 1,20,000
2. Non-Current Liabilities
Long-term Borrowings 2 80,000 | 60,000
3. Current Liabilities
(a) Trade Payables 6,000 | 20,000
(b) Short-term Provisions 3 68,000 | 70,000
Total : 4,79,000 | 3,70,000
II.  Assets
1. Non-Current Assets
Fixed Assets 4 [3,36,000 | 1,92,000
2. Current Assets
(a) Inventories 67,000 | 60,000
(b) Trade Receivables 51,000 | 65,000
(c) Cash and Cash Equivalents 25,000 | 49,000
(d) Other Current Assets — 4,000
Total : 4,79,000 | 3,70,000
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Notes to Accounts

Particulars 31 March, 31 March,
2017 ® 2016
1.  Reserves and Surplus
Surplus 1.e., Balance in Statement of
Profit & Loss 25,000 1,20,000
25,000 1,20,000
2. Long-term Borrowings
10% Long term Loan 80,000 60,000
80,000 60,000
3. Short-term Provisions
Provision for Tax 68,000 70,000
68,000 70,000
4. Fixed Assets
Machinery 3,84,000 2,15,000
Accumulated Depreciation (48,000) (23,000)
3.36,000 1,92,000
Additional Information :
(i)  Additional loan was taken on 1** July, 2016.
(i) Tax of ¥ 53,000 was paid during the year.
Prepare Cash Flow Statement.
(e — 1)
(i ramh)
OPTION - 11

Computerised Accounting

W2 WS (Front End) ST9d T8¢ &1 T MUY & ?
What is meant by the term “Front End’ database ?

3 firereusn (fewmsad) & fau S v we wadd (MS Access) T 39IFT &id & TOR
TaeE’ (Report Wizard) U 3T7%a 91&H i & ?

Why is ‘Report Wizard” a favourable tool for designers using MS Access ?
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Thfera 71 | T AT 8 7 I8 WERoT 9 § fR TR = § ? 4

What is meant by composite attribute ? How is it different from simple attribute ?

U fopl IR ATIIHAI 1 oot HISU Tog STheld S’ AT Tk S & o
forerar ot o9 & o e o vt s =t | 4

State any four requirements which should be considered before making an investing

decision to choose between ‘Desktop database” or “Server database”.

‘qreas faafEdl” (Password Security) G9T 8T diee’ (Data Vault) I1sa] =1 GHETST | 4

Explain the terms “Password Security” and ‘Data Vault’.

AT S-SRI « Teh I9L §3 T2 B STl 92iH T 4,35,000 H G | I8 I66h! ST
YT R A1 o €9 H T 45,000 T FTAH AT | I8 AHd 3¢ 76 5 a9l o 31=d 4 39
TR T =1 §AHT 94 T 2,00,000 8, TH TH UFHe § B! 1 TN HId 5T IR @i
faftr & oasm™ auT sHeht gL ahl TUHT i | 6

Yamaha industries purchased an embossing machine for I 4,35,000. They paid

% 45,000 as installation and transport expenses. Assuming that the salvage value of
machine at the end of 5 years is ¥ 2,00,000, calculate depreciation by Straight Line
Method & its Rate, using formulas in MS excel.
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